—fRERA BRE EHAR <B BH>

(4—1)
wEa

[ 1 VO — gt [m/s]

14

2

oh Yo~ [m]

2g

2%
4 g [S]
i 5 0.5




—fRERA BRE EHAR <B BH>

(4—2)
7) Vst
1) vt
(%) fst
(=) (V =Vs)t
M1
(4) =Y
fs
(#) Vis
V - VS
(3¢ V+ Vo
o V + Vo)fs
V-V,
fil 2 C




—fRERA BRE EHAR <B BH>

(4—3)
Vo
i 1 R [A]
i 2 7
HEHOKE X
[V]
vBl
EIROKE &
3 Vo — vBI [A]
R
HOKE S
(V, — vBI)BI [N]




—fRERA BRE EHAR <B BH>

(4—4)
KEJED )
N
P,S [N]
WL
[N]
mg
77
m
P, + mg [Pa]
fi] 2 - S
e L
(PyS + mg)h K]
nRkR
. 2(PyS + mg + kh)h K]
nR
1,12
4 P05h+mgh+5kh [J]
3h(PyS+mg+2kh)
ﬁ:ﬁ5 2 [J]
i 6 (5PgSh+5mgh+7kh?) Ul

2




